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Section A (30 x 2 marks = 60 marks)

For each question from 1 to 40, four options are given. One of them is the

correct answer. Make your choice (1, 2, 3 or 4). Shade the correct oval (1, 2,

3 or 4) on the Optical Answer Sheet provided.

1. The graph below shows the effect of temperature of the environment
on the populations of 4 different organisms, A, B, C and D.

Population 4
Size

_______________ A

i e OO AN v e g
i g

o 10 a6 50
Temperature

ey

Which one of the following statements is correct?

{1) Organism B is most sensitive to tempersture change.

{2 Organism D is not affected by the femperature change

3 Both Organism C and Organism D survive best at 20°C.

(4} Organism A sunvives better when the temperature is above 30°C.

2. Which of the following consists only of sources of energy?

{1) sun, rock, fuel

2) oil, air, waterfall

(3  wood, food, wind -

(4) coal, magnet, naturalgas -~ "
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Megan grew a plant, X_ in a@ glass bottle. She watered the soil to
ensure that it was moist before she placed an eartthworm in the glass
botlle. She then sealed the botle ' She ieft the bottle near an open
window for 2 weeks. Megan recorded her observations and wrote down
her conclusion. ) '

Which one of the following comrectly shows what Megan would
observe about the earthwonm at the end of the experiment and the
conclusion that she could draw from the experiment? ’

I»_0!::43.er\f.:—ltion of the Conclusion
| earthworm
Ni dead -  Both the earthworm and Plant X have
used up all the water in the bottle.
) dead There was not enough air in the botile
' for respiration .
(3) alive Plant X die and was decomposed by °
the earthworm.
{4) alive There was sufficient basic needs for
both the earthworm and Plant X

En Jie went hiking and saw a rotting log. There were many orggnisms
#ving on and in the rofting log. En Jie leamt that it was a rotting log
community. :

En Jie made the folldwing statements ébout the rotting !og.in fis

notebook.
A The rotting log was once afive. -

B The bracket fungus and the termites found on the rotting log were
decompoesing the rotfing fog.

C  Centipedes, mikipedes, termites and bracket fungus were some
‘organisms in the rotting log community which were interdependent.

Which of the following statement(s) is/are correct?

(1) Aand B only (2} AandConly
(3) -BandConly 4 ABandC
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5. The grass, zebras and lions on the grassland, formed a food chain as

shown below.

grass —-——+ zebra ——— lion

If poachess were active in hunting the lions on the grasstand, which one
of the following graphs would correctly show the effects of the hunting
- on the population of grass and zebras over a period of time, X? -

{1
. 3 .
Number zebm
L J . Tung
' X
)
Number|
grass
Zebra
! . Time

(2)

Numbﬁ'rJL '

“) -

ry
N_umber
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» lime
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6. Study the dzagr:—xm below which shows the relahonshtps between the
organisms in the pond community and the Sun.

snails
; hydrilla

toad

tadpole\
. ' smalt fish

s

duck

Which of the following statements about the above diagram is true?

A There are 6 food chains in the pond community.
B The organisms in the community are interdependent
C me-'diagram shows how energy is passed through. the community.
D The di agram shows only the relahonsmps of organisms in the
pond community
() AandDonly ) BandDonly
{3} A.BandConly (49 A CandDonly

7. Which one of the foIlomng statements about foadstools and bacteria is
conrect?

{1) Only toadstoals need water.

(2) ~  Toadstools can make their own food but not bactera.

3) Only toadstools will respond to changes in the eavironment.

{4} Toadstools and bacteria are able to decompose food
producers and consurners.
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{1

Number

3}
Number

John lives in a temperate country where he always experences the
four seasons. There are 2 different trees outside his house. :

The Qak tree has broad leaves. it sheds its leaves during autumn and
remains “leafless” throughout winter. '

The Pine tree has needle-like leaves which remain green throughout

the whole year even in the winter.
John also noticed that the soit was very cold and dry in winter.

Which one of the following statements is false?

{1) Both trees need water during winter.

{2) Oak tree die during winter and will revive in spring.

3 Qak tree sheds its leaves to reduce water loss during winter.

{4) Little water is lost through the needie-like leaves of the Pine -
tree hence there is no need to shed them for winter.

Jane observed the behaviour of lizards in a particutar area, Z, in the

desert. At night, the iizards hide in the sand o keep themselves warm.
When the sun comes out, the lizards fie on stones to warm their bddies .
During the hottest part of the day, the Lizards hide themselves under
stones {o stay cooi. -

Which one of fhie following graph cormrectly shows the number of
lizards Jane spotted on the sand throughout the day, in Area Z, where
there are many stones? :

2)
t\iuml’:«erJL

] 2 Time . ‘ _ 1 o Time

Bam 12 =~ Gpm Gatn 12 Gpm
noon . noon

(4

: ] of Time . —
6am 1o 6pm Gam CA2 Gpm
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10.

11.

Animals such as anteldpe and deer five in groups. This is one of the
behavioural adaptation of the animals to help them sunvive better in the
grassy plains of Africa.

Which of the following explains how living in herds help these types of
animals to increase their chanoe_as of survival on the grassy plains?

A

B
C -
D

(1.
(3)

The animals move together fo look for food.

These animals, when in groups, can attack their predators.

The animals in their own group wam each ather when they sense
danger and move together. - .

Predators, infimidated by their great number, will not attack them
when they are in their groups. :

A and B only : " (2} Aand Conly
A, B and C only {4) B, Cand D only

Hassan noticed 2 different plants, the Strangling Fig and the Birds -
Nest Femry growing on the -Angsana free outside his house. He
observed that the Strangfing Fig has sunk its roots deep inte the
branches of the Angsana tree. Roots of the Bird’s Nest Fern are tucked
neatly in its “nest’ on the branches of the Angsana tree. with some
hanging loosely. There are also many other organisms on the Angsana
h—ee- . .o

Which one of the following statements made about the plants is false?

{1)
@

(3

4)

The Angsana tree is a single tree community. -

The Strangling Fig cannot make its own food hence it depends on
the Angsana tree for food. : o '

The Bird's Nest Fern uses the Angsana tree as a support hence
will not harm the Angsana tree.. o
The Strangling Fig obtains some nutrients and water from the
Angsana tree hence the Angsana tree will die if the Strangling Fig
flourishes. ' '
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12, Study the concept map below,
Organisms P, Q and R are found in most communities.
Sun ) A
. taken in
provides produces
light . _
energy o} prodiices i a source of
Pk
ysed by
absorbed '
By produces] . _
_ -when died, is _ .
o |, produces broken down by -
_What do the letters A, B, C and D represent in the concept map?
K T 8 C o)
1) oxygen food - carbon dioxide water
- {2) energy _carbon dioxide water | foed
{3) food _oxygen carbon dioxide water
4) oxygen water food carbon dioxide
13.  Salim dropped a Saga seed from a height of 5 metres and found that it

took the seed 1 second to reach the ground. He then dropped three
different fruits X, Y-and Zfrom a hegght of 6 metres and recorded the
time each fruit takes to land on the ground. He conducted the same
expaunent 3 t!mes for each tgpe of fruit. The following table shows his

Frunts X
— X Y Z
Tty 1.1 46 2.7
T“‘;g;ca;‘e“ ity 12 49 3
1 34y 1.1 5 23
What fruit is Y most likely to be? '
{1} Rubber (2) Shorea
3} Mimosa ) (4} PongPong
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14.

15.

| 16.

Which of the following isfare {an)unicellular organism{s)?

A
B
C
D

(1)

3)-

Yeast
Amoeba
Fiower bud
Fertilized egg

A and B only _ __(2) A B and D only
B,C and D only . ) A, B, CandD

Nadia ‘conducted an experiment on a balsam plant which was not
watered for 2 days. She reconded her first observation of the plant and
the leaf cells in the table as shown below. After that, she watered the
plant and recorded her second observation.

QObservation
Leaf celis ’ Plant

First observation Vacuoles had shrunk. - | Leaves had shrivelled

‘and were wiiting. |

Second observation | Vacuoles were full and | Leaves were spread

filled with cell sap. open and heaithy.

What conclusion could she draw from her observations?

(1)
(2)
(3)
“)

The leaf celis had died.

The feaf cells had become old.

The food in the vacuoles had beenusedup,
Leaf cells are kept firm by the sap in the vacuoles.

Which of the following are transported by blood‘?

mooOoo>»

®)

Water
Oxygen

- -“Digested food
-Carbon-dioxide

Waste substances

D and E only ' ) A.BandConly
A, C and D only 40 AB.C,DandE
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17.

18.

The table below shows the boiling and miefing peints of some
substances.
Substances Boiling point (°C) | Melling poirt (°C)

w 150 : .89 ’

X 100 .65

Y - 85 15

Z -16 -128
Which substance W, X, Y or Z is a liquid at 40°C2 |
(1) W 2 X
@ Y @ z.
Jin Yi put 10 wiigglers into a container containing 2 litres of water. He

observed them over 5 days and platted the result in a graph as shown

below. .

-

Netmber

¥

of 10

wrigglers 5_

o

2 3

e
=

4 5

Number of days -

Which one of the following would not contribute to the decreasing
population of the wrigglers? ' .-

(1)  Afish was introduced on the third day.

(2} Alayer of oif had been poured over the water.

(3)  The wigglers had tumed into adult mosquitoes.

(4}  Jin Yimoved the container into a dark room on Day 3.

10 - - =
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18.  SetupA, Band C are three sir'np!e machines with similar loads of 10N,

R=.
10N l
| 3
A
Setup A Set-up B Setaup C

Which of the following setﬂp(é} requiré(s) less than 10N to move the
foad? ) : .
(1) A only 2 AandC ohly
{3) B and C only @) A BandC

20.  Johnny used the toy car shown below to find out the relationship
_ between the number of tums of the key and the distance it traveli_ed.

. The results he obtained are shown below.. . .-

: Uiumber of tumns of the key 2 4 6 8
Distance travelled {cm)- 20 30 40 50

Based 6_n the results, which one of the following inferences can be
made about this experiment? ~ . S

&} The faster the key was tumed, the faster the toy car travelled. o
(2} - The fasterthe toy was wound, the greater the potential energy. .
(3)  The greaterthe number of turns of the key, the greater ttie potential energy.
{4) The greater the potential energy, the greater the'number times the toy ‘-Va_s
wound. - )

1t
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' 21.  The table below shows the length of a spring when different we:ghts

are hung from i,

.(1)_ AandBonly o : -@}

Weight {g) Length of spring (cm)
20 7
60 9 _
100 "

160 14
What is the original length of the spring?
1) 4cm ] 2 3Scm
3 6om L 4 7om

The diagrém below shows an electrical ciircuit.
. I H . - -.__-_K.,_. [ el

@ —o o

\(?)
l.lsttheleast numbet of the switches needed tobedosedfar all of the
bu!bs to light up.

* Band C only
3) A.BandConIy - (4 - AB CandD
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24.

What are the forces acting on the man who has Just jumped off the top
of a crane?

A Gravity

B Air resistance

C Elastic spring force

(1) A and B onty - 2} Aand C only

3) Band C only ' ) (4) A BandC

Sally amanged four mirrors -and shone a torch as shown in the

- diagrams below.

Which diagram comrectly shows the path of a ray of light from the torch?

1 2)

3) , “)

13
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25.

Study the diagram of a trebuchet below.
When pin A was released, the heavy mass will drop down and the asm
will swing upwards in a clockwise direction. This will cause the rock to
be hurled at the enemy wall some distance away.
(Objects not drawn to scale}

enemy wall

heavy mass =]

rock (to be S
hurted at % .
enemy wal) 5

Trebuchet at start faunch position
Which: two of the foliowing graphs most likely represent the change in
the amount of gravitational potential energy and kinetic energy of the
heavy mass and the rock, as the trebuchet launches the rock from its
starting position above to the enemy wafl? ) .

HKey

' GPE —
A B KE —-—--------

Amounit of Amount of | GpE KE
-erergy N energy 4

~ GPE. oS

L. it f
~ » Position of ‘ = Posifion o

Start End  Trshuchet Start €nd Tiebuchet
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25, {continued)

GPE and KE of mass GPE and KE of rock
) Graph A . Graph B-
“{2) Graph B Graph C
3 Graph C Graph D
4) Graph D . Graph A

26, Study the flowchart below.

¥

- Is it strong?
i Is it flexible? Does it allow light ¥

. - _ through through?
Yes \\I.O Yes No
Does it conduct
olectricity? <>
_ Yes ; ; No

Which of the fotlowing is likely to be Materials A, 8, C and D?

' A - B C D
{0 day glass plastic wood
2) | rnubber wood _glass { ceramics.
{3) . paper . glass rubber copper
(4) |~ plastic ceramics paper glass

15
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27,

The folloiving classification key is one \.ivay to cassify animals without

backbones. '
Characteristics
No.1 [a Haslegs  Go to No.4
b. Does not have legs Go to No.2
No2 |a Body with a shell GroupA |
b. Body without a shell Go to No.3
No.3 [a. Body with segrr_ients_ Group B
b. Body without segments Group C
.No4 ta Has3 pairs oflegs orless Gm;,p 2}
b. Has more than 3 pairs of legs Go to No.5
No5 |a. The fength of all the iegs are equal Group E
b. The length of ali the legs are not equal Group F

Starting from No.1 in the classification key above, identify the group
that the animal shown below belongs to.

(1) GioupB | | @

3  GowE @

16

Group D
- Group F
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See;uben arranged four magnets with poles labelied A to H as shown
ow.

— -
A B E
|
C
F
1 - —
o
G H

Which one of the following is another possible amangement?

W ' -
Bl E
Al F
le H o | "
{2)
C. B A I
b
e Flo H |
(3)

El & AIG Hl
@
. F H
El A 8 |G o c[

17
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29.  Study the electrical drcuits below.

Circuit A
—  +i- +i- ¥
o @®
Circuit 8
T
Ciircuit G T —~y-

Circuit D ' s | +b——-

Arrange the circuits in descending order of the brightiess of the bulb(s)..

() ADBC
2 BADC
(3  C.BAD
@ .D/ABC
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30. Ming Ming rested two objects on a table. She shone a torch at the
objects apd noted the shadow(s} formed. The diagram below shows
her experimental set-up as seen from above.

/

Screen

_ Tarch (switched on)

Which of the following could likely be the shadow cast by the two
objects on the screen? (Not drawn to scale)

(A (B)

Z

7
.

© - ©

A\,

{t) A only 2y Conly
(3} BandC (4 B.CandD

.18
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Section B {40 marks) ,
Wirite your answers o questions 31 to 46 in the spaces provided.
Marks will be deducted for misspelt key words. :

31

Eric cariied out an experiment on pholosynthesis for 6 hours. Me
‘wanted to find out if enriched carbonated water would affect the rate of
photosynthesis of hydrilla. Indicator M is a yellow liquid which will tum
‘blue in the presence of increased carbon dioxide. In all set-ups, he
added Indicator M.

The diagrams below show Eric’s set-ups.

Setup P Setup Q ' Set-up R

Indicator M changes colour according to the amount of carbon dioxide
in the solution as shown below.

yellow green blue
. ] o
i { i
Water with Enriched
dissolved air : carhonated
oo ’ water

{a) State'&e'c_ﬁblcur change of each 's-.et-up_( 2 marks)

 Set-up Start of Experiment End of Experiment
P 1 blue - '
Q -
R yellow
" (b) What is the purpose of set-up R? - o {1 mark)

21
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31

{continue)

{c) Why did Eric add a layer of ol to Set-up P? _ - {1 mark)

Megan set up the experiment shown- below using a jever and two
identical 20g iron masses X and Y.

The lever was balanced in a horizontal position by X and Y. Mass X
was then heated for 1 minute and Mass Y was not.

Explain whether the fever would stay in a horizontal position afler Mass
X was heated. (2 marks)
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33.  Study the food web below which consists of organisms P, Q_ R, S, T

and U.

Classify all the organisms of tie food web in the classification chart
below. Fill in the boxes (a) to {f} with suitable headings. {3 marks)

()"

_ | 1 -
) ©
— ]
(d) | ' P _
;!{ () '
a!s' U

andT
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34.  The table below describes how each bird uses its beak.

Désgipﬁon'
A spoonbijll wades by
the shore with it head
underwater. It swings its
head from side to side
and scoops up tiny fish
and other food from the
-mud and water into jts
mouth, '
= | Aheron also geis food
: | in the water. It pierces -
fish, fifts them out of the
water, and swallows
them, '

 Bird
Spoonbifl

Heron

A panrot can break open
nuls and seeds easily
with its big, strong bil.

I Pamrot

Spamrow A sparrow eats its finds
on the ground. its bilt -
makes them easy to

pickup.

A woodpecker hammers
its bl against a free to
make a hole in the bark.
Then the woodpecker
can eat the insects
undermneath. -

Woodpeckgr )

Hummingbird - | A hummingbird sticks its
bill deep into a flower.
Its long tongue sips up
nectar. - -

(a) The beak of the birds work like tools we can find at home. Match
- the beak of each bird to the tools in the table below. (3 marks)

[h _ .Birt-is - Tools

Nutcracker

Tweezers

" Straw

. " Spear

Chise!

Shovel
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34, (continue)

The owl and the eagle are birds of prey. They have similar adaptations
to help them to catch their prey to obtain food.

(b) State and explain one common structural adaptation that both birds
~ have to help them obtain their food. : {1 mark)

35. . tha Life Science taboratory class, Si Jie was given a specimen of plant
cells. The diagram below shows the specimen under the microscope.

(a}'idenﬁfy' Part A and predict wi;(at' will happen fo it on a very hot day.
. (1 madg

(b) Explain the function of Cells B. | {1 mark)

25
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Setup S Set-up T - Set-up U

- {a) Mike left the set-ups for
Explain how this he

tesults in the 3 flasks

a few hours before introducing the candles.
Iped Mike to see greater differences in the

-y

{(b) What was the purpose of settu;g up :Set-up U, which contained the
dead cockroach? ' {1 mark)
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36.

3?.

{oonﬁnue)

{c) Draw a line graph to show the expected results of the experiment in

the graph below.

" Time taken
for flame to
go off {s}
F 3

{1 mark)

Number of live c:)cqua_ches

) Iéébel wanted to test the effect of overcrowding. on the growth of red

bean seeds. She drew up a table as -shown below before conducting

thie experiment.
Amount of Height of
Number of ' . Amount of
Pot water used pots used -
seeds () (cm) soit used (g)
A 5 Y 15 -z
B . X 7 1b 350

Her teacher told her one of the variables that she had included was not - - -

necessary for this experiment.

. (a) Wirite down the va!ues represented by X, Y and Z for-a fair test.

{1 mark)

(b) Which one of the variable is not ;éqmred in order for her to conduct

i afalrtesP

(1mark)

27
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38. Study the life cycles of the insects shown below.

Pt
Nymph J ) ' | ‘,
\_/.

State one similarity and one difference between the {ffe cyclegof thege
woinsects. - - @ rhigeks)
@ Similarity:

(1) Difference :

28 -
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39. Adam wanted _to:obtain p'ufé salt dystais from Mixture A below.

Mixture A consists of iron
fiings, sand and salt water

He was provided with the following materiats.

[Cm -
" abarmagnet _ -l :
’ - | | a big basin

afunnel

a piece of
- filter paper

Using only the materials above, write down the three main steps he

should carry out to obtain the pure sait crystals from Mixture A
- : ' {Z marks)

X0

@i

@iy -

(iv) Oblainsaltin its solid state.

29
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40;  The diagram below shows a roller-coaster ride af an amusement park
A
carts pulled up 4 - e
the'slopebya A} Y
conveyorbelt £ '
T i D
1 — et LN N S - - - - g O WO e, _ .

(@)  Explain why the first fiili

{point A), must be th taliést par -
roller-coaster., 4 (part of the

{1 mark)

(Y Eventually, &ven without applying the brakes, the roller-coaster
cart will come to a stop at point E. Explain why. {1 mark)

© In the graph be‘CM draw a fine graph to show the conversion of
Kinefic energy of the cart a5 it goes through the foop (points B to

D) in the roller-coaster ride. (1 mark)
i . N .jl
¢ i, Pointson
8 c . D rc';iter-pbaster

30
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'41. The diagram below shows how Derek and Diana intedaced two

exercise books.
fold front - fold front
- cover down cover down
D I

_ front cover of
exercise book

back cover of
exercise book

Then, they each tock one-end of the book and pulied hard.
interlaced exercise books

'(a} State the force a&:'ﬁng'béﬁeen_ﬂp*page's of the exerdze boorkk.)
: ma

) Explain intems of foroes why the children were not able to
sepamteﬁrebboksby'pulﬁqg. _(1 mark)

31 ' -

interfaced pages ..
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Which wheel

@

Anna could not use the

other wheel and ade system as the

L)

{1 mark)

in herexpedmgnt

control
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43, Three rods X, Y and Z were p!aced in the 2 etectnca¥ circuits below.
. 'I'he butbs in both the circuits hit up.

The rods were then used in another electrical circuit and placed at

positions A, Band C.
| LT ,
: @ O A O———m
— O BO
L2 X X 13
O ¢ O——

‘Based on the above arcurt, complete the table below.
When any of the lamps L1, L2 or 1.3 it up during the expenment. put

atick{ v )_ln the appropriate box. - | {3 marks)
Positions where rodswere-ﬁlgeed | . Lamp
A B | ¢ L1 12 13
- X Y z _ |
“ Y Z X |
Z ﬁ X Y ‘ |

33 -
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44.  Ravihas 3 objects, A, B and C. They are made of different materials,

&:

Based on the diagrams above, put a fick (+) in the comect box for each
of the statements in the table below. (Tmark)

Not
$t—alemen_t_ ¥ True False |} possible
: totell”

{a) { A occupies more Spaeemana . =

(b) Chasa'greale'rltlas'qmanA I )
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44, (confinued)

Ravi collected several more items K, L, M and.N and balanced them on
3 different levers as shown below.

{c) -Based on the diagram, amange-the items K, L, M and N
“according to their masses in _'_nding order. {1 mark}

45.  The diagram below shaws how a person inhales and exhales.

. inhale
The diaphragm and the ribcage work together in order. for breathing to
take place. ) _ o
- In the table below; circle the comrect description of each stiticture when
a person is taking a breath. - {2 marks)
Chest Cavity ~Diaphragm - Ribcggé
Inhale ’ i:‘iggerl_ move upwardsf ~ {.move upwards!
smaller | move downwgiis | move downwards
Exhale |bigger/ S | qaove upwards{ - mO\!e u_P*ﬁ!ds"
1 smalter . sfiove dowpvards | movetiownwards.

- 35
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46.  The diagram below shows a condenser which is. used to separate a
mixture of two liquids, X and Y, with different boiling points. The mixture
is heated up and the vapour .is then "allowed fo condense. The
condensed liquid is collected in the test tube at the end.

’

[ retort stand

test-tube

—

The boifinig points of X and Y are shown in the table below.

Liquid Boiling Point (°C)
X - 80
Y 100

r4

i ] . _
{a) Which lif]_uid X or Y would bethe first tiquid to be collected in the

test-tube? {1 mark)

(b)  Why must cold water be constantly pumped in a;ﬁbiﬁt A?
' - : T (1 mark)

-

END OF PAPER

Setters: Mrs Sherryl Toh
7 Mdm 1 Chia Ui Hoon -
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Qi 231 0a 105 106 ] Q7108 ¢o |quo[gii[qiz] o310 [016]017]

4 1 3141z 2 31 4 21 3 2 {2 1 2 2 4 4

Q18] 019]Q2010Q21] Q22023 | Q24 1 Q25{ Q261 Q27 { Q28 { Q294 Q30

4 21 3837 3 11 11 31:21 4 '3 .4 14 |

31)a)P: green Q: yellow, yellow R: yellow
b)It isuse as d cantrol in the experiment to- show the result is.

due to: ishe hydn!la _
c)'l'he layer of oil prevents carbon d:ox:de from escapmg.

32)The hYEF would stay. the balanced. Heat changes the volume
but notthe mass. of X.

33)a)lmng ﬂungs b)food oonaumers c)food producqs_
- d)herbwou;es e)mrmthes - -flomnivowres

34)a)Parrot, Sparrow, Hummingbird, Heron, Woodpecker,
Spoonbill
b)They have sharp and strong claws to grip firmly to its prey.

35)a)It would beoome smaller.
' b)CelI B mntrol the size of the stomata.

36)a)The cockroaches would give out carbon dioxide and-after: a;

fewhotrs; there will be much.carbon dioxide inside the flask and
“when Mike introduce the candle, he can immediately see: the effech

Pageito3 - pagel
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36)b)To act as a control to show that the result are due to live
cockroaches respiring.
Ca 4

Y

37)a)x-10 Y-7 Z- 350
h)The height of pots used:

38)i)Both the dragonfly and moth lay eggs.
ii)The dragonfly has three life stages while the moth have life

stiages.

. 39)i)Use the inagnhet to attract the iron ﬁlmgs and take it out.
iPlace ﬂae-ﬁmnel on top at the piece of filter paper and the bng
basin under.
iif)Pour the remdin ding of Mixture A into the fumel and the sait
~ water will’ drop #ito the basin and let the water evapotate

-40)a)¥o gain-the-most gravitational potential erergy to convert to
the kinetic energy to complete thé ride. -
b]‘ll'he kinétic enérgy had been converted to heat energy

C)

A 4

B ¢ b

_41)a)FnchoaaI force. - . ' -
b)The friction betw&:n ﬂae pages of the: boolcs is grcaher than Lo
the pulling force: - : Y s A

Page2 |
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42)a)system B. .
b)Both the load and effort were placed at different at different
positions.

4311 12 13
' J J

v <

44JayTise b)Not C)LKMN

45)Chest Cavity Diaphragm Ribcage
bigger - --- move downwards ~ move upwards
smaller move upwards " move downwards
" 46)a)liquid X.

_b)It is to make the condenser cold and aliow the vapour to
condense. _

Page:-i"'





